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Bi FRAE AERZFE(NT/2F) bep e R F (L/ )
¥R R = & 4R 6,066 3,001
R < e 58 5,972 3,012
T T A 5,828 2,975
B R % L SR 6,263 2,988
¥R R A F5R 6,783 3,514
R ¥ 6,289 3,179
B R 2 B R 6,061 3,006
TR B L 5% 5,860 2,859
A B 35 4R 6,091 3,037
¥R R LR 6,696 3,226
¥ B 4 40 6,140 3,050
R R4 7,031 3,524
. A3 T 5,396 3,674
Frat N2 F 5,198 3,546
Frab B 5,299 3,588
Frat Z W E 5,377 3,692
Frat B 5,331 3,726
Frat i 4,997 3,527
Frat TP 5,226 3,558
Frat ¥ 46 ¥ 4,833 3,294
3 B T R 5,539 3,657
Frat B % 5,553 3,803
Frat B TRw 5,271 3,582
Frat B Aok 5,145 3,503
Frat B LT 5,311 3,665
Frat B 3R 5,056 3,442
Frat B 2% 5,348 3,594
Frat B BHE % 5,279 3,615
Frat B A 5,360 3,704
Frat B k¥ 5,576 3,892
FeF A 5,550 3,778
FeF < Fl 5,441 3,796
i X KT 5,352 3,689
Fe )P YW 5,651 3,980
adi i T4 T 5,639 3,839
Fe )P ¥ Bl % 5,238 3,697
Fe )P TR W 5,457 3,731
adi i B 5,769 3,927
adi i TR 5,363 3,651
el & L% 5,442 3,740
el Er % 5,771 3,929
¥ ) P B 5,262 3,663
FYRS A 6,225 3,551
PR i % 6,192 3,561




BiH ABZE(D>T/24F) feii e R R (/2
355 B 6,234 3,585
3775 Bh 5,427 3,121
3775 Bh 6,070 3,664
354 B4 5,811 3,320
3775 Bh 6,039 3,521
3775 Bh 5,500 3,163
3775 Bh 5,671 3,419
3775 Bh 6,261 3,547
3775 Bh 5,565 3,300
3775 Bh ‘ 6,671 3,626
357 2% T 6,033 3,470
FT 75 A F L% 5,747 3,416
W oA A% 6,525 3,769
WA Z s 6,361 3,827
WA O A 6,310 3,726
A Yo 4 6,557 3,705
F AP T % 6,257 3,598
A o 6,205 3,696
w A B 2 A 6,407 3,761
w A B (5374 6,000 3,507
W A Bk o 4 4 6,759 3,811
w A B WA 6,264 3,552
W A Bk i F 6,589 3,769
WA Y 6,413 3,688
w A B 6,370 3,713
w A B 6,319 3,639
w A B £f 6,275 3,804
w A B 5f R R 6,300 3,674
A0 7% 7,194 3,662
4 L% E 6,580 3,321
4¢P T 8,619 4,322
R 2% 7,436 3,949
¢ X 7,080 3,664
4¢P 5T G 7,310 3,783
e A 7,297 3,921
A B R 7,164 3,612
40 5k 6,990 3,618
A 29 % 7,294 3,570
A FHE 7,847 4,005
S VR T 7,516 3,921
L %% 6,964 3,574
i 25 7,480 3,771
4¢P ; 7,651 3,832
4¢P 7,915 4,027
4¢P 7,610 3,611
4¢P 6,699 3,632
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é ¢ 3 B % ;’831 3,687
— = k2R ’ 3,872
LA — 7,525 S
3 B = R4 7933 4,10
o * o : 4,034
LV AN 8,072
;L B = 33 7R . 4,272
EPAME 8,525
. P ’ 4,188
LA = 8,235 ’
¥ 4L B4 A ﬁ%’—ﬁ‘:’i ! 3 4,142
‘ﬁ{ - R — ﬁ_ 8,03 4’239
e/ AN : 8,301
oL Ef/f, vk ﬁ’:‘K ’ 30 4,265
o Y 8.2 4,103
31 R 8,002
4L B W & R : 4,030
S AME S - 7,733
Y % k5% : 4,044
EVANS —— 7,692
S EALE oz 40 7’970 4,058
L Ak EF R : 4,025
EVAMD 7.768
L e % [F] 5% : 3,979
EVANS — 7,602 m
351 B s 8.108 4,10
:v; L B% :?3;?43 . 37 4,167
Fownar e 8,2 4,050
EVAMD 8.052
S L B J'ﬁ’ o SR ’ 4,113
EVANS — 7,891
T B A . 4,428
3 oo —= 8,626
s L B 3% Eﬁﬁm 3,952
3 1t R L 7,558 n
L 5;;% ;i /ﬁ‘@" 7577 3’94
j/ e A 1964 4,108
Y, JER
e T e = 3,079
o $ 0 7,6 4,249
EhAM - 8,335
P A B2 5N : 3,916
EVAMS 7559
— S R ' 3,924
/A : 7,498
,r/%;\ B4 = ’\é' ﬁﬂi : 19 3,942
2 K2 o 75 3,852
3 Hpi : 7,285
o . 3,890
'% %"ﬂ‘/h /‘i’ ' ﬁ“ 71427 3 900
% LB ek 7,637 ’
: 3 357 ’ 3,830
o 3T 1,136 3,894
» 45 T2 7,431 o
Ty S ’ 3,
> 8 B4R 7,436 3.794
Q#"W/J‘ — 7’157
= B JL & 7R 3,779
» R o 7,437 ’
- B R : 4,294
2 R o 7,708
5 B T ;‘;Eﬁﬁﬂ 4,416
= ‘)HR/T/J‘ — 7,836 4
-+ B% 2 E—ﬁ'— 4,77
Z Rk g 8,593 1604
Z ’H‘f% = z 8,466 !
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Z ek g4 7,603 ‘ boog e R (G0
2 Heph 4w 7,851 i =
> o ) 4 7,848 4,421
EyTY - LR 7,696 4,381
5 T 4K 7,205 4,212
5 7 W48 7,182 4,117
ey 14 7,802 4,167
2 ok P SR 7,636 4,399
5 e t R 4E 7,758 4,243
EyTY B 8,351 4,383
5 e 4 5% 8,162 4,278
2 Al Lo 5.5 4,367
L5 s 7,116 4,619
L5 7% 8,157 3,934
AT i ¥ 7,050 4,316
Y % R4 7,050 4,027
Y 2 AR 7,856 4,455
LA X i 7,156 4,371
Y Kb 5K 8,100 4,136
Y * R4 8,309 4,500
CEY? 2, 585K 7,277 4,524
55 13 7,834 3,087
55 PR 7,460 4,409
Ey i 7 5K 7,247 4,028
55 B 3SR 6,762 4,068
Y g 71 7,691 3,759
Y g 7,689 4,273
TE ENy 8,247 4,292
T BT 8,043 4,565
T -5 7,026 4,469
L 5 b % 7,726 4,063
130 o 7,249 4,490
TE 2P % 7,753 4,306
TR N F 8,037 4,574
TR R 7,588 4.644
% & £ LW 6,800 4,194
T X3 % 6,964 3,938
TE S 7,077 3,846
e 2% 7,778 3,935
% 5 rEx. a % 7,217 4,302
L i ¥ 6,681 4,138
TE 5 RETE 7,073 3,961
s % 6,727 4,013
7,331 3,787
4,164
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P BE % 7,148 4,140
P FEE % 7,733 4,297
T e 6,567 3,923
P Y R 6,883 4,244
P 37 R 6,673 3,901
P Y R 7,011 3,986
4P ¥ % 7,836 4,385
44 Ficw 7,310 4,112
P BB T 7,368 4,107
P AL E 6,802 3,851
B e 3% 7,229 2,838
B e X F 7,910 3,106
B XA 7,248 2,850
o |k 7,290 2,846
® 227 = % 6,779 2,766
o R 7,476 2,936
B e rE 7,300 2,894
B e A% T 7,572 2,918
R P 7,069 2,794
e I 6,876 2,855
R B R 7,990 3,046
® B % 7,272 2,835
B e o 8,030 3,056
o (kW 7,408 3,044
B s BT ® 7,681 2,997
B 2o b F 7,285 2,864
A B 7,562 2,880
B e B R 7,799 2,953
B e HEL T 6,935 2,814
B e B L 7,232 2,853
B e 5 % 7,275 3,024
3 e W 7,600 2,902
B 4 2 1 4o3R 7,288 2,931
B A 2 = B R 6,075 2,480
B A 2 e 7,030 2,858
B § Bk wa 5K 7,625 2,994
B 4 2 Y 6,715 2,805
LRSS 2 B 5% 7,095 2,902
B % 2% ERA 6,916 2,843
B 4 2 LB 4L 7,583 2,977
B % 2% 5 R 7,307 2,922
B {2 HRif R 7,228 2,898
B % 2% £ 55K 7,128 2,872
B 4 2% B AR 7,023 2,878
B 4 2 B A 7,374 2,967
B 4 2% %4 6,623 2,850




R FREE ARAE(T/2M) Susg iy R B (o / OE )
B A B FLTE SR 7,644 3,001
B A Bk B AR 7,779 3,054
B A B F7 5, SR 7,224 2,933
B A B 37 [ % 7,518 2,997
B A B g2 5 7,657 3,012
B A Bk I 7,285 2,900
B A B AR 6,952 2,959
B A B W% 5% 7,086 2,864
B A B 7 i 5% 7,621 2,992
B A B 5 L SR 6,715 2,805
2 @1 JEA SR 6,715 2,805
[ 3848 7,255 6,407
T iR Xk 4p 5% 5,080 5,557
iR + 3 5K 5,164 5,057
iR % Th5R 4,469 3,644
=i £ ESR 4,634 3,964
=i i 5,246 5,259
iR % 2 2% 5,041 5,041
= iER TS 4R 5,132 5,293
iR I AR 7R 5,384 5,250
iR oA R 4,444 4,498
=i 3 2 5,529 5,143
iR b R4 4,114 4,446
=i 2R 5,166 5,336
+ KB < 7R 5,115 4,463
i KB & 4R 5,219 5,033
+ KB bR 6,102 5,688
i KB ¥ 3 5K 4,912 4,742
+ KB 1 T 5R 4,990 4,295
i KB 17 4K 5,865 5,161
4 ¥ Bk £ % 5% 5,776 5,568
£ %2k Pl WA 5,851 5,036
+ KB B TF SR 6,036 5,555
% 9B i 5,150 4,753
i KB B L 42 6,871 6,120




